A2 432 =9 919 A (a.b) M) Aol
of ghe?

27 15
©-3 @0-7 0-

O N IEN|
®



A2 +y2 =499 A P(-1, V3) olA HAT ZA y = x 2}
WHO HREE?

@ (V3, V3) @ (25, 25)

® (4, 4) @ (2V3+2, 2V3+2)

® (2V3-2, 2vV3-2)



9 2 432 = 6 o ot 712717 291 A

@ y=2x+ V10
@ y=2x+2V6

@ y=2x+32
® y=2x+ V30

o 1

®y

Z‘E’]/x

s

ftlo

-

>

=

H

[\

ot

_,d
%

&



4.



5. A3, 1) oA 22 +y? =29 22 F FA] FHAS FotH
x—y=2, ax+ by =10 °|t}. o] o}, ab O] Ft& Fo}H?

D 1 ® 5 B 7 @ 9 B 12



24y =591

o x

3, 1)°lA

o, mn 0] 27

St
=

@ =10 B —-12

B -8



24y2 =59 12
sfod 2,

:ll

o x
bt ke
e

3|
=

179y

, —1)oIA

3
I

(

T2 ofp



8.

A A0, a)ollAl & x?+(y-3)2 =8 12 F
o, Fall 2 ?

@D 3 @ 5 3 7 @ 9

® 10



g 9o & (x-5)* + (y-4)* = 23 A U] A A2, 1)l
Qe A A oA el 1& T o] N2 £A Y wf, yHFo) Lol

rel e

D 3 @ V10 O V11 @ V13 2 ®G V14






11, ohg TT 2Ol T A2 )2 =12 4 ¢
(-3)2 =9 o 5 AFH 9] ydHo] -3

m2

O]C. —u]}ﬂ l—jlo 7]%7]‘2 mo]ﬂJ— 6]'1_ —
r
O F22(H, 0<r<3)

@ 1 @\/g

® 2

)
@

N LN —

Y
$2+(y—3)2=9

2 2
+y'=r
r Ty _3;




A3, 004 D (x+1)2+ (y-6)2 =20 1& F HAo] A2
FAA o, r o] F2? (< r>0)

D 4 @ 32 ® 245 @ 26 ® 5



13.

o Hr e L
Ao rE oo
T l

e

oli

€ =
m 5

dolrke, 291
A1) 72

gt} o] WEC




